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Answer ALL questions (5 x 20 = 100 Marks)

1.
a.
Explain the applications of statistics in management.

b.
Draw a pie diagram for the following data of sixth – five year plan public sector outlays:



Agriculture and Rural development



12.9%



Irrigation etc.








12.5%



Energy









27.2%



Industry and Minerals






15.4%



Transport, communication etc.




15.9%



Social services and others.





16.1%

(OR)

2.
a.
Present the following data of the percentage marks of 60 students in the form of a 
frequency table 
with 10 classes of equal width, one class being 50 – 59.
	41
	17
	33
	63
	54
	92
	60
	58
	70
	06
	67
	82

	33
	44
	57
	49
	34
	73
	54
	63
	36
	52
	32
	75

	60
	33
	09
	79
	28
	30
	42
	93
	43
	80
	03
	32

	57
	67
	24
	64
	63
	11
	35
	82
	10
	23
	00
	41

	60
	32
	72
	53
	92
	88
	62
	55
	60
	33
	40
	57



b.
Construct a histogram.

c.
Draw Ogives.

3.
a.
The distribution of Intelligence Quotient (I.Q) scores measured for 100 students in a test is 
as 
follows:



	I.Q
	40-50
	50-60
	60-70
	70-80
	80-90
	90-100

	No. of Students
	10
	20
	20
	15
	15
	20




Find mean and median intelligence quotient score.

b.
Calculate the mean deviation from median and its coefficient from the following data:


	Class
	Frequency

	0-10
	5

	10-20
	8

	20-30
	12

	30-40
	15

	40-50
	20

	50-60
	14

	60-70
	12

	70-80
	6


(OR)
4.
a.
From the following data of weight of 133 persons determine the modal weight.
	Weight in kg
	40-50
	50-60
	60-70
	70-80
	80-90
	90-100
	100-110
	110-120

	No. of Persons
	10
	20
	29
	36
	18
	10
	7
	3



b.
State the merits and demerits of mean and mode.
[P.T.O]


c.
Two brands of tyres are tested with the following results.
	Life ( in ‘000 miles)
	No. of tyres brand

	
	X
	Y

	20-25
	1
	0

	25-30
	22
	24

	30-35
	64
	76

	35-40
	10
	0

	40-45
	3
	0




i.
Which brand of tyres have greater average life?


ii.
Compare the variability and state which brand of tyres would you use on your fleet of trucks.

5.
a.
A candidate is selected for interviews for 3 posts.  For the first post, there are three 
candidates, for 
the second 4 and for the third post there are 2 candidates.  What is the 
probability that the 
candidate is selected for atleast one post?
b.
In a basin area where oil is likely to be found underneath the surface, there are three locations with three different types of earth composition, say C1, C2, C3.  The probabilities for these three compositions are 0.5, 0.3 and 0.2 respectively.  Further, it has been found from the past experience that after drilling of well at three locations, the probabilities of finding oil is 0.2, 0.4 and 0.3 respectively.   Suppose, a well is drilled at a location and it yields oil, what is the probability that the earth composition was C2?
(OR)

6.
a.
A manufacturing firm produces steel pipes in three plants with daily production volumes of 
500,  
1000 and 2000 units respectively.  According to past experience, it is known that the fractions of 
defective output produced by the three plants are respectively 0.005, 0.008 and 0.010. If a pipe 
is selected from a day’s total production and found to be defective, find 
out 


i)
From which plant the pipe comes?  


ii)
What is the probability that it came from the first plant?

b.
A problem in statistics is given to two students A and B.  The odds in favour of A solving the 


problem are 6 to 9 and against B solving the problem 12 to 10.  If A and B attempt, find the 



probability of the problem being solved.
7.
a.
 In four tosses of a coin, let X be the number of heads.  Tabulate the 16 possible outcomes 
with 

the corresponding values of X.  By simple counting, derive the distribution of X and hence 



calculate the expectation and variance of X.

b.
The incidence of a certain disease is such that on the average 20% of workers suffer from it.  If 
10 workers are selected at random, find the probability that


i)
Exactly 2 workers suffer from the disease.   


ii)
Not more than 2 workers suffer from the disease.

(OR)

8.
a.
A sample of 100 dry battery cells tested to find the length of life produced the following 



results:
𝜇 = 12 hours and 𝜎 = 3 hours.   Assuming the data to be normally distributed 
what 


percentage of battery cells are expected to have life 


i)
more than 15 hours


ii)
less than 6 hours

iii)
between 10 and 14 hours.

b.
It is given that 3% of electric bulbs manufactured by a company are defective.  Using the Poisson distribution, find the probability that a sample of 100 bulbs will contain i)  no defective 
ii) exactly one defective.

9.
Compulsory:

a.
A man buys 50 electric bulbs of ‘Philips’ and 50 electric bulbs of ‘HMT’.  He finds that 
‘Philips’ bulbs give an average life of 1500 hours with a standard deviation of 60 hours 
and 
‘HMT’ bulbs gave an average life of 1512 hours with a standard deviation of 80 hours.  
Is there a 
significant difference in the mean life of the two makes of bulbs?
b.
Random samples of 400 men and 600 women were asked whether they would like to have flyover near their residence.  200 men and 325 women were in favour of the proposal.  Test the hypothesis that proportions of men and women in favour of the proposal are same against that they are not at 5% level.






